Read the following passage carefully and answer the questions given at the end. (20)

Globalization i1s viewed by its proponents as a process of cementing economic, cultural and political bonds between peoples of
different countries of the world. One may regard it as a process by which they are welded into a single world society, to be termed
as global society. It means internationalization of production and labour leading to integration of economies of developing and

developed countries into global economy. To quote Rosaberth M.Kanter, “The world is becoming a global shopping mall in which
ideas and products are available everywhere at the same time.”

Globalization is a natural outcome of computer networking and electronic mass communication. Information technology has made
it possible for nations of the world to contact one another beyond their national borders. Besides, globalization is also promoted
through the growth and proliferation of multinational companies and corporations that operate as transporter networks. Anyhow the
flow of capital technology and labour across the borders of countries has accentuated the process of globalization.

Deregulation, liberalism and privatization being assiduously pursued in the developing countries are some other manifestations of
globalization. These countries are opening their economies to follow these trends. The size of the public sector is shrinking for the
private sector to assume an increasingly important role in the economic development of the Third World countries. The downsizing
of the public sector is in line with the spirit of market economy. This is suggested as a measure to cover up their fiscal deficit.
Questions: (4 marks each)

1. Define globalization. 2. What is electronic mass communication?

3. hat does the term Third World denote? 4.  What is privatization?

3 xplain ‘liberalism’ in the above context.



J

&

Dﬁm jWJ@@m

é&/gaﬁ(ja/?mo o  he vweck  as e [rocass

@J Sé'/zmﬂ lfvmg 2en on@% vl Po&'ﬁ'caf
relolions M e Prgrles o é %Maw»d~

courdies  anoumrl e okl TE T inZ?»ra»@ém
% ECorIordes % cﬁat/c&/:ea(’ amld.  Hevels ig

Gour ks kaayk\/f’ﬁfm/na%p@'an % Ghsn

a2 /’)ﬁudfucf')ov)
HM" s eMomb I7AAS @mmczﬂdh 2
Elecbooviic rmass commondalon [ bhe. melioyr

éd’?/ g@«%ﬁ Cle. Cornrrneruca oo
belerer P eop 73 o GQZ'UUMJ" Counkies acsross

the. 2L chimogeceL s
\ Lock 6%7 e oget ymeans

Qs Eafycfmao "Uberolisr' i bhe abar nlext

T Ce gien  Conbel, Lhowlsm s o
the G of  crass- bolr. &y et
onininaal.  indewerton % widbooelFics g A
JPrevis/on of amn e nmerds  topducive o
’ﬁm& marbel  Eracly, single sentence ans 110t o

" single sentence answer is not correct format ‘\

-

> |

rrect

& format


single sentence answer is not correct format 

single sentence ans is not correct format 


&3 A/M toes  bhe  lerrn Thik Hold o,

answer is correct but too short

i /k& é@’?/)’/) ‘ﬁu;/aﬁ No’l[’bﬁ WCJ é/!a..
!

C&(/&&/ g ‘y Counkinis Oé e Y4
75 OA Een /«’Zé’/&s én lownknie, e

‘ &w«% Coon oy, MJ and, ey

/%Qasé/zooé’—wze_.

B+ rhat s pinlzobion ?

Bonkigbon b o st ar b
S/m'r./vz, 5 Pué b, seber do noaks
7200777 #’u [Juva«lze_» Sechbor Lo powmbaiibe

| é e promore cﬁya%cmpme oA
%L c&(/a%o 7 Joa/n[ Vreg, :

|

|

dear student answers are correct but single sentence ans is
not correct format

answers are a bit short too

basic grammar and sentence structure is fine

8/20



answer is correct but too short 

dear student answers are correct but single sentence ans is not correct format 
answers are a bit short too 
basic grammar and sentence structure is fine 
8/20




